Insertion Sort

D

40

65

58

40

) 43

65

58

40

65

58

40 | 43

) 65

58

43

®

58

43

) 58

40

43

58

N g

40

43

58

65




Complete the Table Using Insertion Sort

Initial
After i=1
After i=2
After i=3
After i=4

A[O0]
18
14

A[1]
14
18

A[2]
70
70

A[3]
17
17

A[4]
53
53

# shifts

1



Complete the Table Using Insertion Sort

A[O0] A[l] A[2] A[3] A[4] # shifts

Initial 18 14 70 17 53 —
After i=1 14 18 70 17 53 1
After i=2 14 18 70 17 53 0
After i=3 14 17 18 70 53 2

After i=4 14 17 18 53 70 1



Selection Sort
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Complete the Table Using Selection Sort

A[O] All] A[2] A[3] A[4]

Initial 18 14 70 17 53
After i=0 14 18 70 17 53
After i=1
After i=2

After i=3



Complete the Table Using Selection Sort

A[O] All] A[2] A[3] A[4]

Initial 18 14 70 17 53
After i=0 14 18 70 17 53
After i=1 14 17 70 18 53
After i=2 14 17 18 70 53

After i=3 14 17 18 53 70



